i ga wreatheR TIrereit adier (et § =), Jerrs 2022 )
o .
) = A

Yo . - 1 %5:::
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T9US T i & Ugel hudn {1 i mu e ot eamgeE ue

(1)
(2)

(3)
(4)

(5)
(6)
(7)

(8)
(9)

3 IS o aF T 3| e | 9 - 1 H o W fose & geted 19 25 S ww 11 8 v fos
T Haed 26 § 75 T4 U9 T §| Tt 75 T 5 w1 AEH 2|

Tk I 2 3 & fo1T 2|

I B i o T o 90 e 1 wwar ez smam

I & o TAIC Tada Iaatent § STwft| S S99 ShHTeh o ame 9R fashed o fo7e haTgER T
fow &) fod & wel SR - forepen & dielem 1 A9 few U SEROTHER W)

3E1. I 5. 6 T el IR ke 3. 2 B, A1 31 fou SR 3 W

Y . 6 0] IOIN)

o fe3 T SerETer & SrgER sifehd fopu e S il T fohw S| 58 ehR sifeRa fepw T g
* I & YA IFh U D DO

T39S H AT 20% T3 U8 B e 4 3T - fashew #§ § @ faeshed 1l 2 9 @ faehey 3ifeRd
e Afrard B1 foees fow yei o ame e § 9wt foremen g e fdw feam g

‘T wEt famwmew g’ tE fiw % Afafes o foreft oft wom 6 fofw ok & <1feres fidam &1 v =
forgifera 0 W 30 3T ! eprd T foman S|

Teh S 3fehd fohT 7T I eI Seed T8 ST Eehd |

fareheq o 3T 3iferd T % fT Shaet et 3T At T % sieid i & eaqTel | U0 9 3ifea
I Tl & fop SR

(10) W99 % Tedsh U8 o o 37 3ifqw 98 W = wm (Rough work) % fore @reft wrg B, o€ wen

%M (Rough work) &

(11) e 61 3rafy qHifeq g o RO Ife et 97 1 I 3Tkl & I &1 af M o T g Hi

7 H 9T o= W T8 T Y b T gA: 3o i)

(12) feret ye © e /erdht aftctfara B o w=iaeres a1 adien shg Heras o foem fomst a1 =)
(13) ww | Ffe /7Tercht /58eh Tae 8 aed foremem steran sifiyvmaesi gra wvg freromferentdt an frerorerfesi

& urg fafed w9 d 7 St gefta fene™ & diftm 8 1T uefa @ & 99|

(14) Ffe /et /gaeh dag § e TaTsd ufgd & 9eH i afyr wien uftwg & fdw wom @ safm

(aTEerrft) ST gt % Ufvd B9 T T 10 (59) T a6 @it

(15) ZohUT Y AT 31T SHRU H T Terd Iiaiera s o forivg afufa o Foingar ame sriar 6 smift|
(16) Het wreaw o Ty S wrar 7 off sods fem mn 31 gt mewm % Gigy yei % fore Sush ue gE)
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fawm - 1

&
9T 01 & 03 & foru g=mAT -

frafafied T-ufese w1 SHE® YgR I8 U U %k 3fdd 3ol SISt

T U HhNIcHe B4 MU AHET SAe™ o faeh™ H TohlicH
T AEAE Sed % fu gae ®ifead g¢ dl gAR ST o Ald H AW
oI B T1fgUl I g fgd o ded =iigul e wafad IR wute i
Srarfeeht =1 @& 31 WAl & S Sfad # Adw w0 fmin gar 1 Sfed
AR, Thd, ddeh N HeAUhR] 99dT 81 TIcigH Sfled T shdd AR,
39S N YSH BT B ANG IAM W g Fgh BT @l AT HIE I
B YA @A A1eUl Sied H Hhadi-3H%ad] shl fadr Sigst T
fom ok, foMT Shamu oTU 3wl Il HE HeH wed TN SIel| sEH S
Mg R HdN 7, 98 A qdl e Bl sEH ¥ R Sfted i ord

E g gl
0l wore goem @m &A1 =nfeu?
(1) plIcHb (2) UHRHS
(3) @A (4) WTeHTcHS
02. zoR waei i flg § F gow B9 =IEe?
(1) =a= oo (2) AR oI
(3) "W Hod (4) IR oo
03. g I UM AT WA AMMEL?
(1) 3feUHE T =y ) HT\ wh =
(3) TEEM W ARy (4) WeRie &0 =g
T HE g T
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v 04 § 06 & Toru geAT -

04.

0s.

frafafga wfoar i dff= w1 <@ ¥ ygw 3Imeh A e U w6
Jcdl SdIsu:
THT 1 TEE HEdl 7, S dod @A 8,
3Rl Hd SIEIE HU, TS M hl &d HU|
FA-HA AGal F&dl 8, ® UA T FaEdl q,
e wEar gt ®, R Wa fFer R
W Ud AT wWed B, ® UThd d a3l
Sfed d8d @ 7, g@ o, g@ W @ Rl
39 Ud9d hed ¥, ®W HEW & B TEd 8,
quRl IR I3 7, T owf o g R
0 & ah fa 3, o @ o fia R,
3d H 3I@h S B, gay off SEer Hia R

gAC w1 GHSA 87

(1) & T AT E)

2) & = gwa ¥ e 2

(3) T UH WME THA A1

(4) B UHY H WG A& HET ALY

T BH T WY od B ?

(1) %o g fen &1 dew 29 R

(2) B B B Gehad ® TSH Hl hEd gl

3) % ' g@ 3N g@ H gWd w % U wEd |
(4) BA TH THY H TEG T HH Bl Hed ol

T HE T AW
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06. S fereshl Bt 27
(1) " & Ty @mea a2
(2) W\ ¥ g wma g gl
(3) wHg ¥ fyEw e w@ g 2
(4) #WEm ¥ TR e g R

07. = fou 7w seg o1 fowgunefl weg w1 HUTH  UEATHU:

T
(1) ot (2) IR
(3) IRYw (4) 3ol

08. = fou U JQU-veg w WA HATG TEEIHT:
(1) ur=an (2) ur=an
(3) ur=Er (4) u=Er

09. ‘ggue 39 MGl Weg 1 Hal A I TN TEHATH:

(1) 3= (2) Ul HI HRFH
(3) kA (4) Hi
10. =9 feu 7Tu <f@e Ui 9 39§ o4 Tl HeeR ddT 38k @l 1 aran
T AT UEETHT:
3 | | il 2z =
(1) =W 3g S (2) Gumg H
(3) o« H HL A (4) @H 1 oA g

T HE T AW
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11.

‘Tea diell T el wheea o e e i iy d§ ggEnfw
() @ @ fmr = & o =)

(2) Tioell Al @ Yoot Alewehl I wE =g

(3) S H gl W@ w= E

(4) T § S AW IW o =@y

12, ‘S9fd’ see &1 @ WEaR! wee 9 4§ ¥ yg=aHu
(1) Scd (2) STl
(3) fagam (4) @
3. f= @ ¥ s9-m 9u g & 27
(1) = (2) st
(3) 7 4 s
4. 3q 3wl & S 9N Weg H Y™ UEEIHT:
(1) 3R (2) 39T
(3) TR (4) U
15, H9 feu T wedl # wgeRM % Wee UgEIMU (4 wERR Iem gRw)
(1) g (2) @
(3) T (4) =mEmg
16. g & wanr fim)’ 38 Wifed o & fhe #rs &1 g @@ 77
(1) 3TEm 2) =d
(3) st (4) Few
TF HE Fq T
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17, fmafafed aew & @ § sk-wr fom fagd ame
HAC, T qH FGT IS

(1) i form 2) et
(3) e 4) WA fued
18.  ‘oyfeq # Fgar =1 g1 ERFh B TW A H {@ifehd HA1 hl YehR UGS
(1) ceIar=s | (2) afaqaras o
(3) YEarEs |9 (4) Sfdares |

19.  ‘srgrearlt wee fod @ wHE! T W19 HUAT 27 (F WERN Seq€ qg=g)

(1) <dgd au@ (2) gl WA
(3) HUIRT U (4) wgsifs @@

20 fig & WE UfRd ¥ TAHR H TE UAE HHT UEANNU:
“Sfeq sem It A9 W, W Wi wan
gd e w9 fawd, 8 aem g’
(1) ST SFABR (2) SUHT 3ITABR
(3) THF ARR (4) TP IABR

21, ‘quied’ weg W Wiy fa=se 1 @Rl uEE wEeiu
() @ + &= (2) T: + =+
(3) d@: o+ T (4) @ + o4

22. 9 feuw U 9 W HE YR UESIU:
fiom, qu g el

(1) 3msmeies () e
(3) T=BIg® (4) Hegdsh
T HE T AW
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23.  ‘gur @ gH B, W TEIE W W Bl I H HA B THR TEATHT:
(1) i wiersehre (2) T
(3) YU FEHTRA (4) T IAHERA
24. i fqu MU Afgcaeii Al R H OS] WIEERR P TR
(1) & =% 2 (2) @d FHWM
(3) ©a T g (4) ®d goHiEE
25. & fegm fohm foo wamn S R0 3@ 3@ @ ggEntu
(1) 14 frder 2) 14 S
(3) 14 Fam @) 5 fadr
T &E g T
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26.

27.

28.

29.

SECTION - II
MATHEMATICS

The ratio of supplementary angle and complementary angle of a given angle is
8:3. Then what will be the ratio of given angle with its supplementary angle?
(1) 4:1 2) 13
3) 14 4) 1:2

What is the cost of fencing a circular garden of radius 28 m with five rounds
of wire, if the wire costs Rs. 50 per m?

(1) Rs. 45,000 (2) Rs. 46,000

(3) Rs. 44,000 (4) Rs. 50,000

21\3
<_32;> = ? (Choose two correct options)

—8x° —2x°
O~ @ 3

_8y® —8x%y?
6 2 @ 57

The average of 10 numbers is 20. Out of which the average of first 6 numbers
is 15. The average of last 3 numbers is 16 then what will be the seventh
number?

(1 72 2) 62

3) 52 (4) 60

SPACE FOR ROUGH WORK
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fawm - 11
wfora

26. et HF % HEH DA qAT B DHl o HE HI JgIE 8:3 & a1 34
HH H b TREH D A AT R AT
(1) 4:1 2) 1:3
3) 1:4 4) 12
27. 28 WR BSA I TH JaHR G H AR K §E k5 B M W
50 ¥ YfqHier & & © fohadd1 @9 T Y=Y
(1) T 45,000 ) T 46,000
(3) T 44,000 4) T 50,000
o= i @ w8 wiE )
—8x" —2x°
(1) 27y (2) 3y)§
_8y® —8x%y?
29. Tl 10 Tt &1 &g 20 8, 3H O Ysell 6 TEARA 1 Ed 15 2
gfg sifm 3 TwEame &1 SHd 16 & d dadl TEN hia-# gre
(H 72 (2) 62
(3) 32 4) 60
T HE T AW
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30.

31.

32.

33.

What is the sum of additive inverse of (5@ — 3b) and additive inverse of
(=6a + 2b)

(1) a+b 2) a-»>b

(3) —a+b 4 -a-0»b

Which of the following statement is wrong?

(A) If a number is divisible by 2 and 5 then it is also divisible by 10.
(B) The numbers divisible by 6 are also divisible by 2 and 3.

(C) The numbers divisible by 7 are odd.

(D) 1, 2, 3, 6 are common factors of all the numbers divisible by 6.

(H A 2) B
3) C “4 D

Which of the following statement is not true? (Choose two correct options)
(A) The opposite angles of a parallelogram are congruent.

(B) The adjacent sides of a parallelogram are congruent.

(C) The diagonals of a parallelogram are congruent.

(D) The diagonals of a parallelogram bisect each other.

(1) statement A (2) statement B
(3) statement C (4) statement D

The length of a cuboidal tank is one and half time its breadth and height is
twice the length. If volume of the tank is 4500 cubic metre then what is the
height of tank? (Choose two correct options)

(1) 10 m. (2) 3000 cm

(3) 30 m. (4) 1000 cm

SPACE FOR ROUGH WORK
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30.

31.

32.

33.

(5a — 3b) & ©HCHS UldaAW TH (—6q + 2b) & ©HTcHS Jfdeld T JINTHA
fefafea w=f=r 4 @ ghw

(1) a+b 2) a-b

(3) -a + b 4) —a—b

freafafed & & To@ ®A gHw

(3 2 a5 ¥ 9 9w S ®, @ 10 @ oft Fww 9w S 2

@ 8 gen 8 6 @ A9y 9 Sar 3 39 e § 2 w6 3 @ of
ﬁ:ﬁ'ﬂﬂﬂﬁ'ﬁﬂ%l

@) 7 ° foursa ot gead foww e B #

@ 6 8 oy fawmfya gHaeh aff semet & 1, 2, 3 9 6 I8 gE
faarses 2

(1) (2) = (3) ® 4) s

fafafad & @ SF-T FeH o 37 (§ TE W ghw)
(3 T Iqds % Tg@ HH FEhEw gd g

(@) T IgYs & dad Y9N H9iTEd gl gl

(%) TR IqYs & fasol watmw B9 3

() T Tgys & fowul wew wufgume g R

(1) om ‘a7 Q) ®g T

3) ®HM FH @) HM T

T % IR Uk Tehl hI @GS Ik IS h S@ AT 7 Al A
Ih s H A O B OAR
LD

TH H THRA 4500 v B oA TH Of
=8 fRat Bty (@ @ gMm)
(1) 10 = (2) 3000
(3) 30 . (4) 1000 o

T HE T AW
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34.

3s.

36.

37.

If the diameter of a wheel of a tractor is 1.4 m. then how much distance is
covered by the wheel in 400 complete rotation.

(1) 1.66 km (2) 1.56 km

(3) 1.76 km (4) 1.86 km

In the adjoining fig. line / || line m || line » and line x and line y are their
transversals. If AB = 18 ¢cm, BC = 30 cm, QR = 21 c¢cm then PR = ?

N
B/ \Q

m
C R
[N

(1) 84 cm (2) 14.7 cm

(3) 12.6 cm (4) 33.6 cm

If a number is divided by 18 then the remainder is 1, if it is divided by 24
then the remainder is 7 and if it is divided by 36 then the remainder is 19.
What is the smallest such type of number?

(1) 91 2) 71

3) 79 (4) 55

Which polynomial should be substracted from the polynomial 7x% — 2x + 4 to
get the polynomial 10x% + 5?

(1) 3x2 +2x + 1 (2) 3x% - 2x -1
(3) 3x2 —2x + 1 (4) 3x% +2x — 1

SPACE FOR ROUGH WORK
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34. TH JFA % URU H AW 1.4 " gl AR 49w T 400 W R AT @ dFR
@ et gt @@ B e
(1) 1.66 forrft (2) 1.56 foprft
(3) 1.76 forft (4) 1.86 forrft
35. G IR H W@ /|| W@ om || W1 p AR W@ x a0 W@y f&e W@
gl gf¢ AB = 18 @i, BC = 30 @, QR = 21 &t @ PR = ....%....
X oy
Af \P ;
B/ o
C R
;N
(1) 8.4 & Q) 14.7 o
(3) 12.6 & (4) 33.6 &
36. fpdft Tem § 18 & 9W o W WS 1, 24 ¥ 9N e W Y T qel
36 9 WM &4 W Y 19 3@l g dl 98 B H B &I HH-H 37
(1) 91 2) 71
3 79 4) 55
37. W®9G 7x* — 2x + 4 H € ThaA werRnm 9 fF wE9E 10x2 + 5 WH BI?
(1) 3x2 +2x + 1 (2) 3x% - 2x -1
(3) 3x% - 2x + 1 (4) -3x2 + 2x — 1
TF HE Fq T
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38.

39.

40.

41.

42.

J/1.96 — /2.25 +,/2.89

/0.000256 -
(1) 102 2) 103
(3) 1072 4) 1073

Pradnya has exactly same number of Rs. 2 coins and Rs. 5 coins. She has a
total amount of Rs. 196 then how many coins of Rs. 5 she has?

(1) 28 (2) 56

(3) 35 4) 14

Two angles of measure 40° and 140° with different vertex are drawn then which
of the following statement is true?

(1) The given angles are supplementary angles.

(2) The given angles are linear pair of angles.

(3) The given angles are vertically opposite angles.

(4) The given angles are adjacent angles.

The co-ordinate of point P on a number line is _7—3 The distance between
point P and point Q is 2 units then what will be the co-ordinate of point Q?
(Choose two correct options)

1 =L @ L 3 =+ @ 3

The radius of a circle with centre 'O' is 10 cm. The length of a chord is
16 cm. Find the distance of the chord from the centre of the circle.
(1) 6 cm (2) 5 cm 3) 8 cm (4) 26 cm

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

42.

V1.96 — /225 +/2.89 2

0.000356 = ol
(1) 102 2) 103
(3) 1072 4) 1073

TS % 9@ f9aq foees @ 398 & 8 399 & faek 5 @ & 3 Afe I
UE A 196 T E Al 5 T o [HFehl hl TEAT HdISU:

(1) 28 2) 56

3) 35 @) 14

40° QAT 140° HUETA HHA SR e 3 fog w A @ qr fefafed #
g HHE-TT HIH T 27

(1) 9 %H T HH 7

(2) ¥ HA Was Fd HA &

(3) 9 uifmE =F 2

(4) 9 G| ®H 7

é@T%@TWP%@Tﬂﬁ%W@‘%%laﬁP@Q%Eﬂazmw
AR & dl Q Tog o1 Howme fhaar gmm? (1 &8 wE gHY)

M 5 @ 5 G 7 @ 7

O %hg ddt TH goa hl Bsam 10 Tt qom 3@ foym ww S i R
16 ft Bl g @ Shar A g 7@ Al
(1) 6 @ (2) 5 4 (3) 8 T (4) 26 Tt

T HE T AW
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43.

44.

45.

46.

47.

A hall has length 30 meter and breadth 9.5 m. For flooring this hall, the square
tiles are to be used of half meter side then how many tiles should be required?
(1) 1240 (2) 1140
(3) 1340 (4) 1150

Ajay scored 25% marks less than Balbir. Then Balbir scored how much
percentage of marks more than Ajay?

(1) 10 2) 11

[ \D"—‘

(3) 25 4 333

The sides forming right angle of a right angled triangle are 8§ cm and 15 cm
then what is radius of circumcircle of that triangle?
(1) 8.5 cm (2) 9.5 cm
3) 13 cm (4) 17 cm

If the side of an equilateral triangle is 18 cm then what is its area?
(1) 81 sq.cm. (2) 80y/3 sq.cm.
(3) 82y/3 sq.cm. (4) 81y/3 sq.cm.

The rate of tickets of a bus are increased by 20%. After six months, the rate
of tickets again increased by 10% then what is the percentage increase in the
original rate of tickets.

(1) 30% (2) 32%

3) 25% 4) 35%

SPACE FOR ROUGH WORK
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43. TH TR I @3 30 "X I AR 9.5 WX Bl IW WA H W IR
e WX Y A THR Ted AT &b it a1 fohad ergem i STawrehar
BT ?

(1) 1240 (2) 1140
(3) 1340 (4) 1150

44. FTF H TAGR " 25% HH Ik WH FL A TSGR Hl FATF § fopad wfawa
Hfreh 376 WTH BU?

1) 10 @ 11§
3) 25 @ 3%

45. TpEl TEeM BYS & 99eH 9 W del 49W 8§ en 15 s g ol
3@ B & ufiges it Breen ot gefie
(1) 8.5 @ 2) 9.5 &

(3) 13 @ (4) 17 @

46. TH HHag GBS A TH gon 18 ¥ B W B W aEwa ¥ i
(1) 81 @ @t (2) 80y/3a
(3) 823t @ (4) 81y/3a ot

47. @ ¥ fowe H frga 20% =g T 8 wER F O [ STH HHd H
10% 1 ggu g @ qd HHd H fhad Ufawa w1 ggfa gl e
(1) 30% (2) 32%

(3) 25% 4) 35%
T HE T AW
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48.

49.

50.

1.

52.

A merchant purchased 25 dozen oranges at the rate of Rs. 25 per dozen. He
sold all oranges at the rate of Rs. 32 per dozen. Then how much percentage
of profit did he get?

(1) 25 2) 32

(3) 28 4) 7

A rope of length 216 m. is cut at five places at same distance then what is
the length of each piece in cm?

(1) 360 cm (2) 3600 cm

(3) 36 cm (4) 36000 cm

Which of the following term should be added so that the expression 49x2+?§

will be a perfect square? (Choose two correct options)

M @
3) 36w ) ng
6.28x3.14 . (3.14)

042 T 12.56
I 3 2) 0.6
3) 1.3 @ 5

The number of girls of 8™ standard A division in a school at Beed is 5 more
than half the number of boys. If total number of students in that division is
65 then how many girls are there in that division?

(1) 20 (2) 30

() 25 (4) 40

SPACE FOR ROUGH WORK
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48.

49.

50.

S1.

52.

Th MR 7 25 ¥ Ufd @9 % @ ¥ 25 oo B @il Ife 3ua mefl
gR 32 ¥ U S5 ok @ W daied Al 3§ fohad wfiwd w1 W ga?
(1) 25 (2) 32
(3) 28 4) 7

216 WX et H W S TE FHM AR W HEI IF Al YAh he hl
wars fepa ot BAf Y

(1) 360 @ 2) 3600 &

(3) 36 Tt (4) 36000 T

49x2+§ﬂﬁﬁﬂ%ﬁ§aﬁﬁﬁq—mqﬁsﬁ%%ﬁa§%@aﬁmm?
(@ @& i gfu)

112x —112x
m 5 @ =y
(3) —36x (4) 57x
628x3.14 . (3.147 _ 4

9.42 A 12.56 — e essTisaes

3

M 3 (2) 0.6
8

(3) 1.3 “4) 3

e oo wh fogumem o 8 ff wem % A I U TEfRAl hI HEAT ASHI
H T h MY F 5 e gl A A H pa 65 fagmefi q @ wsfwAi
#I G fehadt 37

(1) 20 2) 30
3) 25 (4) 40
T HE T AW
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53.

54.

5S.

Which of the following statement is correct?

(A)

The number +% is to the right side of the number %on the number
line.

(B) The number % is to the left of zero.

€ numbers —747 and 7x are to the left of zero on the number line.
C) The numbers —5 and 3 he left of he number i
(D) The number —% is to right of the number % on the number line.
(1) statement A (2) statement B
(3) statement C (4) statement D
75 x 75 -7 x75+35x35 _

7.5 - 3.5 '

1 3 2) 4
3) 5 “4) 2

The difference between sum of three consecutive prime numbers before 50 and
after 50 is completely divisible by which of the following?

(A)

(1)
)
3)
4

2 (B) 3 (C) 4 (D) 7

only by A and B
only by C and D
only by A and D
By A, B and D

SPACE FOR ROUGH WORK
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53.

54.

5S.

ffafad & ®F-w1 ®o @ 77

() Ten +7 Welw W wen [p % Al s e
@) Wen {3 e W oy % S s e R

@) A % T {5 WeE W I k9 s e #
() e -y Weww W wen [y % afd s o g

(1) ed e (2) HE T

3) ®e w 4) ®H T

75 %75 -7 %x75+35%x35 _
ey = b

(1 3 2) 4

3) 5 4) 2

gea 50 % dlk Ugd ki dH wiEes Afawrsy TeEet % IMhd 9 50 h
3 e hHl 9wk TEIS % ANMHA ok FR U fhad @ fARw wm
ST B

(30) 2 ® 3 (h) 4 ) 7
() %@ 7 I 2 %A@ & d T
(3) waa ‘FA 9 T 4 &, § 3 %F

T HE T AW
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56.

57.

58.

59.

60.

What is the degree of product of polynomials x> — 2x2 — 1 and x — x? ?

(1) 4 @ 5
3) 3 4) 6
(ol x (o 4/
< ()l +4x
) Vx @ 1
3) x @) x3

A vehicle covers a distance of 42 km in one hour. Then how much distance
will it cover at the same speed in 20 minutes?

(1) 21 km (2) 840 m.

(3) 14 km (4) 20 km

Which of the following are the factors of polynomial (2x — 5)3 — 64 ?
(1) 2(2x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x? — 12x + 21)
(3) (2x — 9) (4x? — 12x + 21) (4) @2x + 9) (4x% + 12x + 21)

Santoshrao deposited Rs. 2,10,000 in bank for 5 years at simple interest. After
the end of period, he received Rs. 3,36,000 from the bank. Then what was
the rate of interest?

(1) 11% 2) 10%

3) 12% 4) 14%

SPACE FOR ROUGH WORK
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56. 3 — 22— 13 x -2 & TUESA 1 wife forad grft?
(1) 4 (2) 5
3) 3 “4) 6
e EItE LN
(Vo)# > (Vx)* +x
(1) Vx 2) 1
3) x 4) x5
58. UH MEl TH "9 H 42 FRM g q@ w3l S M § 98 Ml 20 e
§ foret gt @@ wEn?
(1) 21 feeft (2) 840 .
(3) 14 femri 4) 20 el
59. frafafaa & @ (2x — 5)3 — 64 1 PHEE IET:
(1) 22x — 9) (2x% — 6x + 21) (2) (2x — 5) (4x2 — 12x + 21)
(3) (2x — 9) (4x2 — 12x + 21) 4) (2x + 9) (4x + 12x + 21)
60. TAWUd J Th Sh § HYNO oS hl X F 2,10,000 ¥ 5 99 & forw
SHT | S 9 W% ag 3™ 3,36,000 ¥R WH BY Al SAE H G FAIU:
(1) 11% (2) 10%
3) 12% 4) 14%
T HE T AW
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61. The ages of 60 children in a class are given in the frequency distribution table
below. From this, find their mean age.

Age (in years) 12 13 14 15
No. of children 13 12 21 14
(1) 15 years (2) 13.6 years
(3) 13 years (4) 14.5 years

62. The curved surface area of a cone is 47.10 sq.cm. If radius of the base is

P

N 3 cm then what is its perpendicular height? (nm =3.14 cm)
(I) 3 cm (2) 4 cm
3) 5 cm (4) 157 cm

63. How many coins of thickness 0.2 cm and diameter 4 cm will be formed by
melting a solid metallic cuboid of length 22 cm, breadth 18 cm and height

6 cm?
(1) 935 (2) 954
3) 5% (4) 945

64. The area of a square is 4.41 sq.cm., then what is its perimeter?
(1) 42 cm (2) 104 cm
(3) 8.8 cm (4) 84 cm

SPACE FOR ROUGH WORK
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61. TH Ha & 60 fagmidi it oy w1 faw fie arewar @rfoft & fearn
T Rl 3 WINON W SMYUR W fagEieRi i g N WIEH FA ehi:

Iy ([ a¥ H) 12 13 14 15
fagntd=i & @@ 13 12 21 14

(1) 15 =9 2) 13.6 a¥
(3) 13 =d (4) 14.5 =d

62. TH WP H dHyShA 47.10 T TH B I Wk omEm K B 3 wh
B @l WH H T I fhadt B (mo o= 3.14)

(1) 3 @t (2) 4 @
(3) 5 o (4) 15.7 @t
63. 22 Ut @, 18 T dig AT 6 WH FAE A UG o Uh 3E A HI
froee 0.2 ot HieE 9 4 9t =am ol fead foes dAm @ ?
(1) 935 (2) 954
(3) 59 (4) 945

64. TRl 0 w aEwA 4.41 W WH B A 3@l GRERG feRal BRT?

(1) 4.2 &f ) 10.4 ¥
(3) 8.8 @ (4) 8.4 @t
T HE T AW
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65.

66.

67.

68.

The base radius of a cylindrical tank is 28 cm. It contains water. A metal
cuboid of length 44 cm, breadth 14 cm and height 8 cm is dropped into it.
Then what is the increase in the level of water in tank?

(1) 2 cm (2) 25 cm

3) 3 cm 4) 1.5 cm

The length of side of a rhombus is 17 cm. If the length of one diagonal is
16 cm then what is the length of other diagonal?

(1) 30 cm (2) 17 cm

3) 8 cm (4) 34 cm

The population of a town was 75000. This population is increased by 10%
next year. After that year, the population decreased by 8%. In the third year
the population is increased by 5% then at the end of third year, what will be
the population?

(1) 935550 (2) 78000

(3) 79695 4) 77950

Ashok sold the necklace worth Rs. 15,00,000 at 20% profit. How much amount
Ashok will get?

(1) Rs. 1,12,000 (2) Rs. 18,00,000

(3) Rs. 17,00,000 (4) Rs. 16,00,000

SPACE FOR ROUGH WORK
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65. frdl @@ I SoF F AHRa U % emem H B 28 Tt R} ww
9§ $S UH 90U B 39 U W 44 At @@, 14 S der den 8 &
JA1 G1g P Th 3E ghel Sad W AU & gl H g fhadt @@ St e
(1) 2 @ (2) 2.5 @t
(3) 3 @ (4) 1.5 o

66. 17 FH yon A TH W IgYS & vk fawel K d@E 16 TH A A ogw
foepot 1 @aE @R
(1) 30 @t (2) 17 @t
3) 8 @ 4) 34 o

67. Torel wE I SHEE 75000 B SHEEAT H A a9 10% i dfg ;@ T
3% A a¥ 8% THEEN wU B | AR ad SHEen #@ afy 5% Hi
gfg &t a1 dE a8 % IFd H wWel kI SHEEA fehadl BRI
(1) 935550 (2) 78000
(3) 79695 (4) 77950

68. 3k 4 15,00,000 ¥ W TH FX WG H 20 Wiiwd AW W e= fe
@ 3™ fohd TR uE gU?

(1) ¥ 1,12,000 (2) ¥ 18,00,000
(3) ¥ 17,00,000 (4) T 16,00,000
T HE T AW
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69.

70.

71.

72.

73.

The measures of exterior angles of a triangle are 115° and 117° respectively,
then which type of triangle is it?

(1) Acute angled triangle (2) Obtuse angled triangle

(3) Right angled triangle (4) Equilateral triangle

The length of a diagonal of a square is 11 cm then what is the length of its
side?

(1) 11 cm (2) 11y2cm
(3) 5.5/2cm (4) 7v/2cm

3.9% of 1530 = ? (Choose two correct options.)
(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 (4) 5.967

The measure of a minor arc is 160° then what is the measure of corresponding

major arc?
(1) 160° (2) 320°
(3) 200° (4) 80°

A shopkeeper gives 12% discount on the printed price of a mobile. He sold
a mobile for Rs. 26,400. What was its printed price?

(1) Rs. 30,000 (2) Rs. 32,000

(3) Rs. 26,412 (4) Rs. 3,000

SPACE FOR ROUGH WORK
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69.

70.

71.

72.

73.

Ifc fret Bys & Q@ sfgshEl o AW HAY: 115° qon 117° & a1 98 s
PE YHR W RB7?

(1) =meH By (2) s ®F By

(3) wHhH Py (4) wHeTg B

fret it & faspol i ofas 11 A & @ Uk Yo h @y fohadt gAY
(1) 11 @t () 1123
(3) 5.5y2 % 4) 7/2%H

1530 &1 3.9% = ... P (@ u@ i ghh)
(1) 59.67 (2) 5967 x 1073
(3) 5967 x 1072 4) 5.967

fpel o=@ &1 "M 160° B Al Ik G ™™ 1 HY Sarsl:
(1) 160° 2) 320°
(3) 200° 4) 80°

T THEGR HEEA % BY od W 12% H <@ 2l I\ TH HERA
e 26,400 T H W= A HEEA H DA oI qABY:

(1) T 30,000 2) T 32,000
(3) T 26,412 4 T 3,000
T HE T AW
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Instruction for Question No. 74 & 75
In the following joint bar graph, the number of boys and girls in divisions A,
B, C, D of 8™ standard are given. Observe the joint bar graph and answer
the following questions.

- |Scale: OnY - Axis | cm = 10 boys/girls
T boys EXd girls |
50 H =
= 40 |
=2 be i Z
; ?\20‘ Z / 2 7 i 531 EE 1SS 46 53
QO } | = >
2 g
ZRNA
0 A B D
P e

74.  What is the total number of students in all four divisions of 8 standard?
(1) 255 (2) 300
(3) 200 (4) 355

75.  What is the ratio of number of boys with number of girls in B division?
(1) 6:7 (2) 7:6
(3) 5:6 4) 6:5

SPACE FOR ROUGH WORK
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T 74 qAr 75 & forw g -
el HAT H A, B, C, D O T AGHk qd ASRA hl Uemed1, H
T HYFd WY gEm quiEl w3l Fhew e R fgw ™ g

Wﬂﬁlﬁ:

few
ED

ek | HE |
are ;Y- 1 @t = 10 ergsh/Treshl
L ass Edash |

% 40 |

E o L Z

] Ez(y Z / Z % B B
10
/
0 A B X
- e

74, oTedl wem % AW N H Po Ao fhan faganef &7
(1) 255 2) 300
3) 200 4) 355

75. @ 'B' % ASh qAAT ASKRAT hH! YT T H FUG Tfhadl 77
(1) 67 (2) 76
(3) 5:6 (4) 65

TF HE g A

0311-Hindi Set-A 31 0f32 P.T.O.

W NS NI
QA 28

NS
ON %‘!An

NS
%

\

R 1

SOA
P

AN
%o
A

Z2

S



SPACE FOR ROUGH WORK

PP e
P20 1200 (200 120 1200 1200 12200 200 420 1200 1200 12090 20
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